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Sample size calculation  

Parameters: 

- Type I error = 0.05 

- Type II error = 0.20 

- k = 2 

- hypothesized ICC = 0.80 

 

n = 
0.5 𝑘 (𝑍𝛼+𝑍𝛽)^2

𝜎2 (𝑘−1)
 + 2 

Zα = 1.645 

Zβ = 0.842 

Rexpected = 0.80 

 

ZRexpected = 0.5 natural log 
1+(𝑘−1)𝑅𝑒𝑥𝑝𝑒𝑐𝑡𝑒𝑑

1−𝑅𝑒𝑥𝑝𝑒𝑐𝑡𝑒𝑑
 

ZRexpected = 1.0986 

Rlowerlimit = 0.80 – 0.10 = 0.70 

ZRnull = 0.5 natural log 
1+(2−1)0.70

1−0.70
 

ZRnull = 0.867 

σ2 = ZRexpected - ZRnull 

σ2 = 0.2316 
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n = 
0.5 𝑘 (𝑍𝛼+𝑍𝛽)^2

𝜎2 (𝑘−1)
 + 2 

n = 28.706 

Sample size = 29 participants round to 30 participants  

Sample size adjusted for attrition rate of 25% = 30 ÷ (1-0.25) = 40 

Final sample size = 40 participants 


